KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

CONFIDENTIAL WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINA

Operator: License #	API No. 15 - 109-20858 -0000
Name: Shakespeare Oil Company, Inc.	County: Logan
Address: 202 West Main Street CONFIDENTIAL	E2 -SE - NW - NW Sec. 15 Twp. 14 S. R. 32 East West
City/State/Zip: Salem, IL 62881	990 feet from S (N)circle one) Line of Section
Purchaser: NCRA	1000 feet from E / (W) (circle one) Line of Section
Operator Contact Person: Donald R. Williams	Footages Calculated from Nearest Outside Section Corner:
Phone: (_618) _548-1585	(circle one) NE SE NW) SW
Contractor: Name: HD Drilling, LLC RECEIVED	Lease Name: Ottley Well #: 4-15
icense: 33935	Field Name: Chalk Buttes
Wellsite Geologist: Steve Davis	Producing Formation: Morrow, LKC "J", Johnson, Cherokee
Designate Type of Completion: KCC WICHITA	Elevation: Ground: 2752' Kelly Bushing: 2762
New Well Re-Entry Workover	Total Depth: 4500 Plug Back Total Depth: 4449'
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 227 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 2187 Feet
Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 2187
Operator:	feet depth to surface w/ 200 sx cmt.
Vell Name:	·
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AHTW 11-1209 (Data must be collected from the Reserve Pt)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 6500 ppm Fluid volume 2500 bbls
Plug BackPlug Back Total Depth	··
Commingled Docket No.	Dewatering method used_evaporation
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
9/14/09 9/26/09 10/19/09	Lease Name: License No.:
9/14/09 9/26/09 10/19/09 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R 🗌 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log-TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	
All requirements of the statutes, rules and regulations promulgated to regul nerein are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
100 P / NO	
ignature: Lonald (C Will	KCC Office Use ONLY
	1 V
itle: Vice President Pate: 10/29/09	Letter of Confidentiality Received
29th Ontohar	Letter of Confidentiality Received If Denied, Yes Date:
subscribed and sworn to before me this 29th day of October	If Denied, Yes Date:
ubscribed and sworn to before me this 29th day of October	If Denied, Yes Date:
ubscribed and sworn to before me this 29th day of October of October day of Octob	Wireline Log Received Geologist Report Received UIC Distribution
Subscribed and sworn to before me this 29th day of October to 000 . Notary Public: Maluxa A. Noel OFFICIA at Commission Expires: 11-6-11 Topics	Wireline Log Received Geologist Report Received UIC Distribution NOV 0 6 2000
subscribed and sworn to before me this 29 day of October of Octobe	Wireline Log Received Geologist Report Received UIC Distribution NOV 0 6 2000 State of Illinois

Side Two

Operator Name: Shake	espeare Oil Comp	any, Inc.		Leas	se Name:	Ottley		_ Well #: 4-1	5
Sec Twp14	S. R. <u>32</u>	. Eas	st 🗹 West		nty: Logan				
INSTRUCTIONS: Sho tested, time tool open a temperature, fluid reco Electric Wireline Logs a	and closed, flowing very, and flow rate	g and shu s if gas to	it-in pressures, o surface test, a	whether long with	shut-in pre	essure reached	static level, hydro	ostatic pressu	res, bottom hole
Drill Stem Tests Taken (Attach Additional Si	neets)	V)	∕es □ No		⊘ L	og Formati	on (Top), Depth a	and Datum	Sample
Samples Sent to Geolo	•	7 Y	∕es □No		Nam	ie Geological Rep	ort	Тор	Datum
Cores Taken Electric Log Run (Submit Copy)			∕es √No ∕es No					n RE	CEIVED
ist All E. Logs Run:	نامان المستحدد المست						104 0 g San	a Non	A 2 65-
Array Ind/SP/G	R, CN/CD/9 FIDENTIA 1 2 8 2009	R/CAL	./ML, SON	IC		K	CC WICHI	TA _{KCC I}	CEIVED ' 0 2 2009 VICHITA
90	week	Pone	CASING		_	ew Used ermediate, produc	tion ata		
Purpose of String	Size Hole	Si	ze Casing	W	eight	Setting	Type of	# Sacks	Type and Percent
Surface	Drilled 12 1/4"	8 5/8"	et (In O.D.)	23#	s. / Ft.	Depth 227	Class A	Used 165	Additives
Production	7 7/8"	5 1/2"		15.5#		4498	ASC	200	3% CaCl2, 2% ge
	1770	0 1/2		10.0#		14400	7.00	200	diji sik dikadina, ay vya ab a
		1	ADDITIONAL	CEMENT	TING / SOI	JEEZE RECORD)		
Purpose:	Depth Top Bottom	Тур	e of Cement		ks Used	JEELE HEGGHE		Percent Additives	3
Perforate ✓ Protect Casing — Plug Back TD Plug Off Zone	3005'	Pozmix	(335		65/35 w/ 8%	gel & 1/4#/sx fl	ocele	
Shots Per Foot	0		RD - Bridge Plug Each Interval Per		e	l	cture, Shot, Cemen		rd Depth
6	lorrow.			. + .		-500 gal-15% l	NEFe w/1-gal-cla	-sta -	4420-27
4 J	ohnson					500 gal 15% NEFe & 1000 gal 15% NEFe 4346-56			
4 C	herokee					250 gal 15% l	NEFe		4316-18
4 L	KC "J"					250 gal 15% l	иCA		3992-95
TUBING RECORD	Size 2 3/8"	Set At 4449		Packer	At	Liner Run	Yes ✓ No		
Date of First, Resumerd F 10/20/09	Production, SWD or E	inhr.	Producing Meth	nod	Flowing	g 🗸 Pumpii	ng 🔲 Gas Li	ft Oth	er (Explain)
Estimated Production Per 24 Hours	0il 40	Bbis.	Gas	Mcf	Wate	er B		Gas-Oil Ratio	Gravity 34
Disposition of Gas	METHOD OF C	COMPLETION	ON			Production Inter	val		
Vented Sold (If vented, Subn	Used on Lease nit ACO-18.)		Open Hole Other (Special	√ Pe	rf. 🔲 C	Dually Comp.	Commingled _		



24 S. Lincoln Street

P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St.

Salem, IL 62881

INVOICE

Invoice Number: 120148

Invoice Date: Sep 30, 2009

Page:

1

ONFIDENTIA	AL	well Fils	
Customer ID	Well Name/# or Customer P.O.	Paymen	t Terms
Shaku \ 2 " Lo	Ottley #4-15	Net 30	Days
Job Location (**)	Gamp Location	Service Date	Due Date
KS1-02	Oakley	Sep 30, 2009	10/30/09

Quantity	i ltem	Description	Unit Price	Amount
220.00		Class A Common	15.45	3,399.00
115.00	MAT	Pozmix	8.00	920.00
24.00	MAT	Gel	20.80	499.20
84.00	MAT	Flo Seal	2.50	210.00
458.00	SER	Handling	2.40	1,099.20
20.00	SER	Mileage 458 sx @.10 per sk per mi	45.80	916.00
1.00	SER	Port Collar - Production	1,185.00	1,185.00
20.00	SER	Pump Truck Mileage	7.00	140.00
		0CT 0 5 2009	RECEIVE NOV 0 2 2 KCC WICH	ED 90 9 TA

ALL PRICES ARE NET, PAYABLE
30 DAYS FOLLOWING DATE OF
INVOICE. 1 1/2% CHARGED
THEREAFTER. IF ACCOUNT IS
CURRENT, TAKE DISCOUNT OF

\$ 167368

ONLY IF PAID ON OR BEFORE

Ct 30, 2009

Subtotal	8,368.40
Sales Tax	316.78
Total Invoice Amount	8,685.18
Payment/Credit Applied	
TOTAL	8,685.18

ALLIED CEMENTING CO., LLC. 044310

MIT TO P.O. E RUSS		NSAS 676	65			SE	RVICE F	'OINT:	Dakly
0/1/00	SEC.	TWP.	RANGE		CALLED OUT	ON LOCATION	JOB S	START OO ()	JOB FINISH
TE 9/30/09			7	11	//		COUN		STATE
ISE OTTLEY.	WELL#	415	LOCATION 8/4/	(ley	18/25 70	Tank Batters	Log	an	IKS_
D OR MEWACI	rcle one).		WOF85 W	THE THE	Q				
NED A GEOD A		ı. I - A	. 00 6	•	OWNED				
NTRACTOR V		West u	lell seave		OWNER 9	ane			
NE OF JOB PO	(1)	T.D	PI VOLARY TON		CEMENT				,
SING SIZE			PTH		AMOUNT O	RDERED <u>425</u>	5Ks	65/	35 820 ac
BING SIZE		DEI			1/4 16 P				
ILL PIPE		DEI			0 500		on 51	De	
OL Post	Collar	DEF	TH 2184		used 335 sld	}			<i>2</i>
ES. MAX		MIN	NIMUM	ен /5 / 8	COMMON_	220	@/_	52	3399
AS. LINE		SHÇ	DE 101 A LOEM	THALL	POZMIX _	115	@_&	25	9200
MENT LEFT IN	CSG.				GEL _	24	@ <i>X</i> (250	499-20
RFS.			OC1 3 \$ 500		CHLORIDE _	/	@_		
SPLACEMENT		·	MCC.		ASC		@_		
	EQU	JIPMENT	0.00			0 011/1	@	, 50	- w
	•				Plasau	8416	@	<u> </u>	310
MP TRUCK (CEMENT	ER Mas	N)				@_		
	HELPER	Man	. N.			2	@	7.1	
LK TRUČK		7	,		<u> </u>		@		
394 1	DRIVER	Dong	en				@ @		
LK TRUCK							@ @		
I	DRIVER	,			HANDLING	45254	$-$ @ $\overline{2}$	40	1099 20
					MILEAGE/				916 00
	REI	MARKS:	0		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	7,,,,,	,	TOTAL	Jaul 40
+ tral +		Lave	~	,				TOTAL	1113
TO 31/2 8 BLG		PSTe"Op	an pool July	1		OEDA	ton		
4		1 mg	2 53 5 5 6 681	45		SERV	ICE		
gel 1/4/6/103		77	1d, Rm 43	-7	DEDTH OF K) /	OU		
158 100 1 10	94 / N /	FUU IJE	10 pm 70	4.4.	DEPTH OF JO	OB	07		1000
	Man	2/25	1			К CHAROL ГАGE			185
or car lat	7)5	THE STATE OF THE S	100		MILEAGE	20	@	22	1400
	-01	Jen /	Ja_						
	Alan	was ne , E	Parren						
	, ,								
ADGE TO CA	1/2 00				-				
ANGE 10. 7/12	y Spe	as K					7	ΓΟΤΑL	122000
EET	<u>. </u>						J	OIAL	113-3
			ZIP						
1·	317	٠١ بـ				PLUG & FLOA	T EQUI	PMEN	Γ
							@		
							_		
Allied Cementi	ng Co. I	I C					@		
			enting equipmen	n#					
	_		assist owner or				@		
			e above work wa						
			f owner agent of			•	Т	OTAL	
	_		d the "GENERA				_		
			on the reverse si		SALES TAX (If Any)			
TAID VIAD COL	וטננטר	יום וואוכת י	on the reverse sh	uc.	•	'			
	TO	1 1	$p < \wedge \lambda$			RGES			
NTED NAME_	1. —		1-201V		DISCOUNT _		.	IF PAID	IN 30 DAYS
NTED NAME_	70	()	/						
NATURE	1,0,	Janso	Y.		V			23.54	



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

INVOICE

Invoice Number: 120093

Invoice Date: Sep 26, 2009

Page:

Bill To:		
Shakespeare	Oil Co., Inc.	300.000
202 West Ma		- 0
Salem, IL 62	881	DENTIAL
	COMPIL	Missing of an

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881	NTIAL WELT L		
Customer ID	Well Name# or Customer P.O.	Paymen	t Terms-
Shak	Ottley #4-15)	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Sep 26, 2009	10/26/09

Quantity	Item	Description	Unit Price	Amount :
4.00	MAT	Gel	20.80	83.20
230.00	MAT	ASC Class A	18.60	4,278.00
28.00	MAT	Salt	23.95	670.60
1,150.00	MAT	Gilsonite	0.89	1,023.50
500.00	MAT	WFR-2	1.27	635.00
162.00	MAT	CD-31	9.35	1,514.70
291.00	SER	Handling	2.40	698.40
20.00	SER	Mileage 291 sx @.10 per sk per mi	29.10	582.00
1.00	SER	Production String	2,185.00	2,185.00
20.00	SER	Pump Truck Mileage	7.00	140.00
1.00	SER	Rotator	100.00	100.00
		OCT 0 5 2009	KCC	NECEIVED DV 02 2019 WICHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Oct 26, 2009

Subtotal	11,910.40
Sales Tax	516.92
Total Invoice Amount	12,427.32
Payment/Credit Applied	
TOTAL	12,427.32

ALLIED CEMENTING CO., LLC. 044375

REMIT TO P.O.	BOX 31			SER	VICE POINT:	
	SELL, KANSAS 6766	5			ONE	ey 25
·						
9 - 26.09 DATE	SEC. TWP.	RANGE 32 L	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
0 tt 1-e7				3030 bw	COUNTY	STATE
LEASE		LOCATION ON	w185- 45	· ~	LOSAN	1K5
OLD OR NEW?C	circle one)					
CONTRACTOR	H-8 #=	2	OWNER			
TYPE OF JOB	Production	SANIA	_			
HOLE SIZE	77/8 T.D.	4550'	CEMENT	_		_
CASING SIZE	今1/2 15.5 DEP	TH 45522	🚣 🛮 AMOUNT OR	RDERED <u> </u>	O ASC.	2 Dell
TUBING SIZE	DEP	TH	1000054	14 , 5th gr.	1/sk: 3/4	0C12 CA-3
DRILL PIPE	DEP	TH	_			
TOOL	DEP	TH	_			
PRES. MAX	·	IMUM	_ COMMON		@	
MEAS. LINE	THE THE PARTY OF T	EJOINT Ma'	POZMIX		_@ 	
CEMENT LEFT	N'CSG.	12"	GEL ·	7	_@_ <u>20\$</u>	830
PERFS.	UC1 3 8 5008	7 7	_ CHLORIDE _		_@_ 	
DISPLACEMENT		7.3 ASL	_ ASC	230	_@ <u> 8</u>	4278
	EQUIPMENT			5 0-	_@_ 	
	•		5014	28	_@ <u>73</u> =	670
PUMP TRUCK	CEMENTER	Eury C			at [@] – 	50
	HELPER 12-1	· · · · · · · · · · · · · · · · · · ·	Golson	110 1150	<u>. 87</u>	1023
BULK TRUCK	11221211	, ,			- [@] - 	
	DRIVER DAN	~ ~	WFE.	It 500gs		635
BULK TRUCK					_@	70
4	DRIVER		CD-31	162	- 1 62	1514
			- HANDLING_		_@_3	100 00 ×
			MILEAGE	10 47 RX m		202
_	REMARKS:				TOTAL	948540
Pumps A	AL TORGH WA	der, 500g,	<u>a</u> (
LUFRIT,	15 BOL Fresh	water, Miy		SERVI	CE	
	RH. Mix 20					A C2
	wagh out pon			В	45	52
Drep plus	Digolac-	Slug do	PUMPTRUCK	CHARGE	<u> </u>	2185
1 Atchdown	1 11 Cut 80	or - land		AGE	_ @	
12000	Cloud held	Plus	MILEAGE	20	_@_ 	1700
down	@ UV45pm		- MANIFOLD _	1444	_ @	
7	thanks For	zie benzel	FAPO1	OR	_ @	1000
	-				_ @	
CHARGE TO:	5 hallespeace	4				
					TOTAL.	2425
STREET						
CITY	STATE	ZIP				
	5,,,,2		· I	PLUG & FLOAT	TEQUIPMEN'	Г

		•				
To Alliad Comont	ina Ca. II C				@	
To Allied Cement	_				@	
	quested to rent ceme					
	nter and helper(s) to a					
	ork as is listed. The				TOTAL	
	n and supervision of	•			IOIAL	
	read and understand		SALES TAY (16	F A ny)		
LEKMS AND CO	NDITIONS" listed o	n the reverse side.		f Any)		<u> </u>
			TOTAL CHARG	GES		
RINTED NAME_			DISCOUNT		IE DA ID	IN 20 DAVE
	1.0		DISCOON!		IF PAID	IN 30 DAYS
	// ///					



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Fax:

(785) 483-3887 (785) 483-5566

INVOICE

Invoice Number: 119985

Invoice Date: Sep 14, 2009

Page:

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881		Well File	× ' '	•
CONFIDENT	MAL	V		
Customer D	Well Name# or	Customer P.O.	Paymen	t-Terms
Shak	Ottley	/ #4-15	Net 30	Days
Job Location	Camp	Location	∰ i _{ii} Service Date	Due Date
KS1-01	Oal	kley	Sep 14, 2009	10/14/09

Quantity	⊧ ltem :	Description Unit P	?rice	Amount
165.00	MAT	Class A Common	15.45	2,549.25
3.00	MAT	Gel	20.80	62.40
6.00	MAT	Chloride	58.20	349.20
174.00	SER	Handling	2.40	417.60
20.00	SER	Mileage 174 sx @ 10 per sk per mi	17.40	348.00
1.00	SER	Surface 1	1,018.00	1,018.00
20.00	SER	Pump Truck Mileage	7.00	140.00
ALL PRICES AS	DE NET DAVABI	SEP 2 1 2009	1 00	RECEIVED POV 02 2009 CWICHITA
	RE NET, PAYABL OWING DATE OF			4,884.45
1010000	100/ 0/1400=0	Sales Tax	1	186.53

INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Oct 14, 2009

Subtotal	4,884.45
Sales Tax	186.53
Total Invoice Amount	5,070.98
Payment/Credit Applied	
TOTAL	5,070.98

ALLIED CEMENTING CC., LLC. 043715

SERVICE POINT:

REMIT TO P.O. I	BOX 31 SELL, KAN	SAS 6766	15		SERVICE POINT:				
KOSC	JEEE, KAN	3210 0700	,3.			<u> </u>			
9-14-09 DATE	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH		
OHLEN	WELL# 4	115	LOCATION CA	H44 185.	ن دي سم	COUNTY	STATE		
LEASE OLD OR NEW (C		` '	200.11.0.		_=				
OLD OR THEFT			J.,						
CONTRACTOR		<u>, ~ 2</u>		OWNER					
TYPE OF JOB	<u>50054</u>		2 26/	CEMENT					
HOLE SIZE	2114	T.D.			CEMENT AMOUNT ORDERED \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \				
CASING SIZE TUBING SIZE	8 118	DEI DEI	<u>ТН а 38</u> тн	AMOUNT OI		2 7 CO W - 2	72.		
DRILL PIPE ON	IEIIDEN7,								
TOOL	1 2 8 2009	DEC				45	a<>		
PRES. MAX UL	1 . A A CANS	MIN	IIMUM	COMMON_	165	_@_15	-2549-		
MEAS. LINE	KCC		DE JOINT	POZMIX	:2	_@	(5 98		
CEMENT LEFT IN	VCSG.		15'	GEL		_@ <u></u> @	349 20		
PERFS.			7 /-	CHLORIDE	<u> </u>	@ -5 53 28	344		
DISPLACEMENT			3.6	ASC		_			
	EQUU	PMENT			RECEIVED				
					Move				
	CEMENTE				"\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				
	HELPER	12-61	4.	Ka		@			
BULK TRUCK # ろくつ	DRIVER	Lal	> 0		VICHITA	_ @			
BULK TRUCK	DRIVER	~ 4	= - 4 VC +			_ @			
	DRIVER				. 7.4	-@ 	1015 60		
	DICIVERC	· · · · · · · · · · · · · · · · · · ·		— HANDLING	174 1045KYm	-@ 	34800		
	DEM	ADEC.		MILEAGE	· (U FOR TVN		- us		
		ARKS:	1 1 0			TOTAL	3726		
cement	t did		erinculare		SERVI	CE.			
					- OZIV				
plus de	our se	<u> </u>	ODAM			22			
					K CHARGE <u> </u>		1018		
		·		EXTRA FOO			11000		
Tueske	T	()	1 eu				14000		
1. N. H. 1. 1. 2	0-621	46	7 4 CC	— MANIFOLD.	e .				
					· · · · · · · · · · · · · · · · · · ·	_ @			
CYLL D OF TO	x . D		mul (a			_			
CHARGE TO: _S						ТОТАІ	1158		
STREET						IOIAL	(135		
CITY	STAT	ГЕ	ZIP						
. 1				~ .	PLUG & FLOAT	'EQUIPMEN'	ľ		
		*		1-8-4	The same				
					· · · · · · · · · · · · · · · · · · ·	_ @			
						_@			
To Allied Cement	_			***************************************		_ @ @			
You are hereby re	_	3		t 		_ @			
and furnish ceme		_	•			_ ~			
contractor to do w						TOTAL			
done to satisfaction					•	IOIAL			
contractor. I have				CALECTAV/	If Any)				
TERMS AND CC	אטדדוטאי	s nsted	on the reverse SIC	10.	RGES				
					•				
PRINTED NAME_				DISCOUNT _		IF PAID	IN 30 DAYS		
		11 /	7 4 .						